

# On functions defined by sums of products of Bessel functions

**P A Martin**

Department of Mathematical and Computer Sciences, Colorado School of Mines, Golden,  
CO 80401-1887, USA

E-mail: [pamartin@mines.edu](mailto:pamartin@mines.edu)

Received 28 June 2007, in final form 13 November 2007

Published 12 December 2007

Online at [stacks.iop.org/JPhysA/41/015207](http://stacks.iop.org/JPhysA/41/015207)

## Abstract

Various functions, defined as infinite series of products of Bessel functions of the first kind, are studied. Integral representations are obtained, and then used to deduce asymptotic approximations. Although several methods have been investigated (including power series expansions and integral transforms), methods based on Fourier series emerge as the most useful.

PACS numbers: 02.30.Gp, 02.30.Mv

Mathematics Subject Classification: 33C10, 33C20, 41A60, 33J05

## 1. Introduction

In a recent investigation into multiple scattering of acoustic waves by random configurations of penetrable circular cylinders [7], we encountered the functions

$$\mathcal{S}_1(x) \equiv \sum_n \mathcal{J}_n^2(x) \quad \text{and} \quad \mathcal{S}_2(x; \mu) \equiv \sum_{m,n} \mathcal{J}_n(x) \mathcal{J}_m(x) \mathcal{J}_{n-m}(\mu x). \quad (1)$$

Here, the function  $\mathcal{J}_n$  is defined in terms of the Bessel function  $J_n$  by

$$\mathcal{J}_n(x) = J_n^2(x) - J_{n-1}(x) J_{n+1}(x), \quad (2)$$

$\mu$  is a constant and we have used the shorthand notation

$$\sum_n = \sum_{n=-\infty}^{\infty} \quad \text{and} \quad \sum_{m,n} = \sum_m \sum_n.$$

We are especially interested in the asymptotic behaviour of  $\mathcal{S}_1(x)$  and  $\mathcal{S}_2(x; \mu)$  for large positive values of  $x$ . (The behaviour near  $x = 0$  is easily obtained; in particular,  $\mathcal{S}_1(0) = \mathcal{S}_2(0; \mu) = 1$ .) In the application we have in mind, large values of  $x$  ( $\equiv ka$ ) correspond to high frequencies and the parameter  $\mu$  satisfies  $\mu \geq 2$ , with  $\mu = 2$  being of special interest.

We shall obtain integral representations for  $\mathcal{S}_1$  and  $\mathcal{S}_2$ , and then we shall show that

$$\mathcal{S}_1(x) \sim \frac{c_1}{x} \quad \text{and} \quad \mathcal{S}_2(x; \mu) \sim \frac{c_2(\mu)}{x} \quad \text{as } x \rightarrow \infty,$$

with explicit expressions for the constants  $c_1$  and  $c_2$ . Thus, see (27) for  $c_1$ , see (33) for  $c_2(\mu)$  and, when  $\mu = 2$ , see (34):

$$c_2(2) = (4/5)[(2/\pi)\Gamma(3/4)]^4.$$

To see that the determination of the asymptotic behaviour of  $\mathcal{S}_1$  and  $\mathcal{S}_2$  may not be straightforward, consider the following well-known fact:

$$\mathcal{S}_0(x) \equiv \sum_n J_n^2(x) = 1 \quad \text{for all } x. \tag{3}$$

Each term in the sum decays as  $x^{-1}$  with increasing  $x$ , and yet the sum itself does not decay. A related formula is

$$\sum_n J_n(x)J_{n+m}(x) = 0 \quad \text{for all } x, \quad \text{where } m = \pm 1, \pm 2, \dots \tag{4}$$

Combining this formula with (3) gives

$$\sum_n \mathcal{J}_n(x) = 1 \quad \text{for all } x. \tag{5}$$

The formulae (3) and (4) are special cases of addition theorems for Bessel functions. For example, it is known that

$$\sum_n J_n(r)J_n(s) e^{-in\theta} = J_0(\sqrt{r^2 + s^2 - 2rs \cos \theta}). \tag{6}$$

In particular,

$$\mathcal{S}_0(x; \mu) \equiv \sum_n J_n(x)J_n(\mu x) = J_0(x(\mu - 1)).$$

Thus,  $\mathcal{S}_0(x; \mu)$  decays as  $x^{-1/2}$  when  $x$  increases, provided that  $\mu \neq 1$ , whereas  $\mathcal{S}_0(x; 1) = \mathcal{S}_0(x) \equiv 1$ , which is (3).

In order to estimate  $\mathcal{S}_1$ ,  $\mathcal{S}_2$  and related infinite series, we need a general method. It is instructive to develop these methods by using them to verify (3); some potential methods (and their drawbacks) are outlined in the following section. We then focus on methods based on Fourier series. These lead to integral representations for  $\mathcal{S}_1$  and  $\mathcal{S}_2$ ; we also consider other functions, including

$$\mathcal{S}_3(x) \equiv \sum_n J_n^4(x). \tag{7}$$

The asymptotic approximations follow from the integral representations. We only give the leading term in the asymptotic behaviour (as that is sufficient for our application), but it is likely that full expansions could be derived with more work; such expansions have been obtained previously for  $\mathcal{S}_3(x)$ , as described in section 3.

## 2. A short survey of methods for proving (3)

### 2.1. Use of a differential equation

Perhaps the simplest way to prove (3) is to form a differential equation for  $\mathcal{S}_0(x)$ . Thus,

$$\mathcal{S}'_0(x) = \sum_n 2J_n(x)J'_n(x) = \sum_n J_n(J_{n-1} - J_{n+1}) = \sum_n J_n J_{n-1} - \sum_m J_{m-1} J_m = 0$$

so that  $\mathcal{S}_0(x)$  is a constant; but  $\mathcal{S}_0(0) = 1$  and so the result follows. A similar calculation also gives (4). However, we have not succeeded in using this approach for more complicated series, such as  $\mathcal{S}_3$ .

2.2. Use of power series

Bessel functions are defined by power series, so it is natural to use these. The power series for  $J_n^2$  is known [1, 9.1.14], and this can be summed over  $n$  (use the second ‘check’ on p 822 of [1]) to recover  $\mathcal{S}_0 = 1$ . In principle, this method could be used for other series. However, power series are not usually convenient when the goal is to estimate functions such as  $\mathcal{S}_3(x)$  for large values of  $x$ , unless the series obtained can be recognized as a known special function.

2.3. Use of Mellin–Barnes integrals

Mellin transforms can sometimes be used to obtain asymptotic expansions. However, we see immediately that  $\mathcal{S}_0(x)$  does not have a Mellin transform. Nevertheless, we can use a Mellin–Barnes integral for  $J_n^2$ . Thus, for  $n \geq 0$ , we have the following integral representation (obtained by putting  $\mu = \nu = n$  and  $s + n = z$  in Watson’s formula for  $J_\mu(x)J_\nu(x)$  [12, p 436], or by comparison with the power series for  $J_n^2(x)$  [1, 9.1.14]),

$$J_n^2(x) = \frac{1}{\sqrt{\pi}} \frac{1}{2\pi i} \int_{c_n - i\infty}^{c_n + i\infty} \frac{\Gamma(n - z)\Gamma(z + \frac{1}{2})}{\Gamma(z + 1)\Gamma(n + z + 1)} x^{2z} dz, \tag{8}$$

with  $-\frac{1}{2} < c_n < n$ . (Later, we shall use a Mellin–Barnes integral for  $J_1$ ; see (32).) To calculate  $\mathcal{S}_0$ , we sum over  $n$ . We want to interchange the order of summation and integration. As [1, 6.1.47]

$$\frac{\Gamma(n - z)}{\Gamma(n + z + 1)} \sim \frac{1}{n^{2z+1}} \quad \text{as } n \rightarrow \infty,$$

the interchange will be permissible if  $\text{Re } z > 0$ . Thus, we fix  $c_n = c_1$  (with  $0 < c_1 < 1$ ) and sum over  $n$  with  $n \geq 1$ . We have

$$\sum_{n=1}^{\infty} \frac{\Gamma(n - z)}{\Gamma(n + z + 1)} = \frac{\Gamma(-z)}{\Gamma(z + 1)} \sum_{n=1}^{\infty} \frac{(-z)_n (1)_n}{(z + 1)_n n!}$$

where  $(\alpha)_n = \Gamma(\alpha + n)/\Gamma(\alpha)$ . The sum is  $F(-z, 1; z + 1; 1) - 1 = -\frac{1}{2}$ , where  $F(a, b; c; z)$  is the Gauss hypergeometric function [1, 15.1.1] and we have used a known formula [1, 15.1.20] for  $F(a, b; c; 1)$ . Hence,

$$\mathcal{S}_0(x) = J_0^2(x) - \frac{1}{\sqrt{\pi}} \frac{1}{2\pi i} \int_{c_1 - i\infty}^{c_1 + i\infty} \frac{\Gamma(-z)\Gamma(z + \frac{1}{2})}{[\Gamma(z + 1)]^2} x^{2z} dz. \tag{9}$$

But we know that  $J_0^2(x)$  is given by (8); moving the contour from  $\text{Re } z = c_0$  to  $\text{Re } z = c_1$ , we pick up the residue contribution from  $z = 0$ , and then (9) gives  $\mathcal{S}_0(x) = 1$ .

It is possible that this method will generalize, but we have not pursued it; for applications to the evaluation of certain integrals of products of Bessel functions, see [5].

2.4. Use of Laplace transforms

Another possibility is to consider the Laplace transform of  $\mathcal{S}_0$ . It is known that [2]

$$\begin{aligned} \int_0^\infty J_n^2(x) e^{-sx} dx &= \frac{(-1)^n k}{\pi} \int_0^{\pi/2} \frac{\cos 2n\psi d\psi}{(1 - k^2 \sin^2 \psi)^{1/2}} \\ &= \frac{k}{4\pi} \int_{-\pi}^\pi \frac{e^{in\theta} d\theta}{[1 - k^2 \cos^2(\theta/2)]^{1/2}}, \end{aligned} \tag{10}$$

where  $k^2 = 4/(s^2 + 4)$  and  $s$  is the transform variable. Summing over  $n$  gives

$$\int_0^\infty \sum_{n=-N}^N J_n^2(x) e^{-sx} dx = \frac{k}{4\pi} \int_{-\pi}^\pi \frac{D_N(\theta) d\theta}{[1 - k^2 \cos^2(\theta/2)]^{1/2}}, \tag{11}$$

where

$$D_N(\theta) = \sum_{n=-N}^N e^{in\theta} = \frac{\sin(N + 1/2)\theta}{\sin(\theta/2)} \tag{12}$$

is the *Dirichlet kernel*; from the theory of Fourier series (see, for example [11, p 317]), we know that  $D_N$  has the following filtering property

$$\lim_{N \rightarrow \infty} \int_{-\pi}^\pi f(t) D_N(t) dt = 2\pi f(0), \tag{13}$$

for any smooth functions  $f$ . Hence, letting  $N \rightarrow \infty$  in (11) gives

$$\int_0^\infty \mathcal{S}_0(x) e^{-sx} dx = \frac{k}{4\pi} \frac{2\pi}{\sqrt{1 - k^2}} = \frac{1}{s},$$

which is the Laplace transform of unity.

An obvious limitation with this method is that it needs the Laplace transform to be available. However, the filtering property of the Dirichlet kernel does suggest using Fourier series, and this emerges as our method of choice.

### 3. Use of Fourier series

If the terms in a series can be expressed as Fourier coefficients (as in (10), for example), then it is trivial to sum the series. Thus, suppose that

$$t_n(x) = \frac{1}{2\pi} \int_{-\pi}^\pi h(\theta; x) e^{in\theta} d\theta, \tag{14}$$

where  $h$  is a smooth,  $2\pi$ -periodic function of  $\theta$ . Then,  $h(\theta; x) = \sum_n t_n(x) e^{-in\theta}$  and, in particular,

$$\sum_n t_n(x) = h(0; x). \tag{15}$$

We can also use Parseval's theorem [11, p 128] to sum a related series:

$$\sum_n |t_n(x)|^2 = \frac{1}{2\pi} \int_{-\pi}^\pi |h(\theta; x)|^2 d\theta. \tag{16}$$

More generally, if we have a second function,  $g(\theta; x) = \sum_n s_n(x) e^{-in\theta}$ , then

$$\sum_n \overline{s_n(x)} t_n(x) = \frac{1}{2\pi} \int_{-\pi}^\pi \overline{g(\theta; x)} h(\theta; x) d\theta, \tag{17}$$

where the overbar denotes complex conjugation.

Let us apply these formulae. From [4, 7.7.2 (11)], we have Neumann's formula,

$$J_\nu(x) J_\mu(x) = \frac{2}{\pi} \int_0^{\pi/2} J_{\nu+\mu}(2x \cos \psi) \cos [(\mu - \nu)\psi] d\psi. \tag{18}$$

If we put  $\nu = n$ ,  $\mu = -n$  and  $\psi = \theta - \pi/2$ , we obtain (see [1, 11.4.8] or [4, 7.7.2 (13)])

$$J_n^2(x) = \frac{1}{\pi} \int_0^\pi J_0(2x \sin \theta) \cos 2n\theta d\theta = \frac{1}{2\pi} \int_{-\pi}^\pi J_0(2x \sin [\theta/2]) e^{in\theta} d\theta. \tag{19}$$

Comparison with (14) gives  $t_n(x) = J_n^2(x)$  and  $h(\theta; x) = J_0(2x \sin \frac{1}{2}\theta)$ . Then, (15) gives  $S_0(x) = 1$  whereas (16) gives the integral representation

$$S_3(x) = \sum_n J_n^4(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} J_0^2\left(2x \sin \frac{1}{2}\theta\right) d\theta = \frac{2}{\pi} \int_0^{\pi/2} J_0^2(2x \sin \theta) d\theta. \tag{20}$$

In fact, this is a known formula. It is equation (2b) in a paper by Stoyanov and Farrell [9]. These authors were interested in the integral, but they noted (20). They also obtained the large- $x$  behaviour of the integral's value; using their results, we obtain

$$S_3(x) = \frac{1}{x\pi^2}(\log x + 5 \log 2 + \gamma) + O(x^{-3/2}) \quad \text{as } x \rightarrow \infty,$$

where  $\gamma \simeq 0.5772$  is Euler's constant.

### 3.1. Application to the series $S_1(x)$

Consider  $S_1(x)$ , defined by (1). Using (2), (18) and (19), we obtain

$$\mathcal{J}_n(x) = \frac{1}{\pi} \int_0^{\pi} [J_0(2x \sin \theta) + J_2(2x \sin \theta)] \cos 2n\theta d\theta = \frac{1}{2\pi} \int_{-\pi}^{\pi} g(\theta; x) e^{in\theta} d\theta, \tag{21}$$

where

$$g(2\varphi; x) = J_0(2x \sin \varphi) + J_2(2x \sin \varphi) = \frac{J_1(2x \sin \varphi)}{x \sin \varphi}. \tag{22}$$

As  $g(0; x) = 1$ , applying (15) confirms (5). From (16), we obtain

$$S_1(x) = \sum_n \mathcal{J}_n^2(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} [g(\theta; x)]^2 d\theta, \tag{23}$$

an integral representation for  $S_1(x)$ . Explicitly,

$$S_1(x) = \frac{2}{\pi} \int_0^{\pi/2} [J_0(2x \sin \theta) + J_2(2x \sin \theta)]^2 d\theta \tag{24}$$

$$= (2/\pi)[S_{00}(2x) + 2S_{02}(2x) + S_{22}(2x)], \tag{25}$$

where

$$S_{\mu\nu}(\lambda) = \int_0^{\pi/2} J_{\mu}(\lambda \sin \theta) J_{\nu}(\lambda \sin \theta) d\theta. \tag{26}$$

The asymptotic behaviour of this integral can be found in the literature:  $S_{00}$  is mentioned above,  $S_{\nu\nu}$  was studied by Wong [13] and the general case is discussed in [10], [6] and [8]. Specifically,

$$S_{\mu\nu}(\lambda) = \frac{\cos[(\mu - \nu)\pi/2]}{\lambda\pi} (\log \lambda - \psi_{\mu\nu}) + O(\lambda^{-3/2})$$

as  $\lambda \rightarrow \infty$ , where

$$\psi_{\mu\nu} = \gamma + \psi\left(\frac{1 + \mu + \nu}{2}\right) + \frac{1}{2}\psi\left(\frac{1 + \mu - \nu}{2}\right) + \frac{1}{2}\psi\left(\frac{1 - \mu + \nu}{2}\right)$$

and  $\psi(w) = \Gamma'(w)/\Gamma(w)$ . In particular,  $\psi_{00} = -\gamma - 4 \log 2$ ,  $\psi_{22} = -\gamma + \frac{8}{3} - 4 \log 2$  and  $\psi_{02} = -\gamma + 4 - 4 \log 2$ . Thus,

$$S_{00}(\lambda) \sim \frac{\log \lambda - \psi_{00}}{\lambda\pi}, \quad S_{22}(\lambda) \sim \frac{\log \lambda - \psi_{22}}{\lambda\pi}, \quad S_{02}(\lambda) \sim -\frac{\log \lambda - \psi_{02}}{\lambda\pi},$$

whence

$$S_{00}(\lambda) + 2S_{02}(\lambda) + S_{22}(\lambda) \sim (\lambda\pi)^{-1}(2\psi_{02} - \psi_{00} - \psi_{22}) = (16/3)(\lambda\pi)^{-1}.$$

Thus, (25) gives

$$S_1(x) \sim \frac{16}{3\pi^2 x} \quad \text{as } x \rightarrow \infty. \tag{27}$$

This estimate agrees well with direct numerical evaluation of the infinite series defining  $S_1$ .

The fact that the logarithmic terms cancel suggests that the leading behaviour of  $S_1(x)$  could be obtained more directly. Indeed, inspection of (24) suggests that the dominant contribution comes from a neighbourhood of  $\theta = 0$ , so following Stoyanov and Farrell [9], we have

$$\begin{aligned} S_1(x) &\simeq \frac{2}{\pi} \int_0^{x^{-1/2}} \left[ \frac{J_1(2x \sin \theta)}{x \sin \theta} \right]^2 d\theta \simeq \frac{2}{\pi} \int_0^{x^{-1/2}} \left[ \frac{J_1(2x\theta)}{x\theta} \right]^2 d\theta \\ &= \frac{4}{x\pi} \int_0^{2x^{1/2}} t^{-2} J_1^2(t) dt \simeq \frac{4}{x\pi} \int_0^\infty t^{-2} J_1^2(t) dt. \end{aligned} \tag{28}$$

Note that the last approximation could not have been made in a similar calculation for  $S_3$ , because  $\int_0^\infty J_0^2(t) dt$  is divergent: it is this divergence that generates the logarithmic terms. It remains to calculate the value of the infinite integral in (28). We recognize it as a critical case of the Weber–Schafheitlin integrals. Thus, it is known that [12, p 403]

$$\int_0^\infty y^{2s-2} J_1^2(y) dy = \frac{2^{2s-2} \Gamma(s + \frac{1}{2}) \Gamma(2 - 2s)}{[\Gamma(\frac{3}{2} - s)]^2 \Gamma(\frac{5}{2} - s)} = \frac{\Gamma(s + \frac{1}{2}) \Gamma(1 - s)}{\sqrt{\pi} (3 - 2s) [\Gamma(\frac{3}{2} - s)]^2} \tag{29}$$

for  $-\frac{1}{2} < \text{Re } s < 1$ ; this reduces to  $4/(3\pi)$  when  $s = 0$ , and then (28) agrees with (27). We shall use this method when we estimate  $S_2(x; \mu)$  in the following section.

### 3.2. Application to the double sum $S_2(x; \mu)$

The series  $S_2(x; \mu)$ , defined by (1), is more complicated than  $S_1$  for two reasons: it is a double sum and it involves Bessel functions with different arguments.

Let us start with the latter complication. From the addition theorem for  $J_0$ , (6), we have

$$J_n(x) J_n(\mu x) = \frac{1}{2\pi} \int_{-\pi}^\pi f(\theta; x) \cos n\theta d\theta,$$

with  $f(\theta; x) = J_0(x\sqrt{1 + \mu^2 - 2\mu \cos \theta})$ . Application of (16) gives

$$S_3(x; \mu) \equiv \sum_n J_n^2(x) J_n^2(\mu x) = \frac{1}{\pi} \int_0^\pi J_0^2(x\sqrt{1 + \mu^2 - 2\mu \cos \theta}) d\theta.$$

When  $\mu = 1$ , this formula reduces to (20). When  $\mu \neq 1$ , the argument of the square root does not vanish; consequently, it can be shown that  $S_3(x; \mu) = O(x^{-1})$  as  $x \rightarrow \infty$  in this case.

More generally, using (21),

$$\mathcal{J}_{n-m}(\mu x) = \frac{1}{2\pi} \int_{-\pi}^\pi g(\theta; \mu x) e^{i(n-m)\theta} d\theta = \frac{1}{2\pi} \int_{-\pi}^\pi h_m(\theta; x) e^{im\theta} d\theta,$$

where  $h_m(\theta; x) = g(\theta; \mu x) e^{-im\theta}$  and  $g$  is defined by (22). Hence, from (17) (with  $h = h_m$  therein, and noting that  $g$  is real),

$$\sum_n \mathcal{J}_n(x) \mathcal{J}_{n-m}(\mu x) = \frac{1}{2\pi} \int_{-\pi}^\pi g(\theta; x) g(\theta; \mu x) e^{im\theta} d\theta.$$

Multiplying by  $\mathcal{J}_m(x)$ , using (21) again, and then summing over  $m$ , using (17) again, we obtain

$$\mathcal{S}_2(x; \mu) = \sum_{m,n} \mathcal{J}_m(x) \mathcal{J}_n(x) \mathcal{J}_{n-m}(\mu x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} [g(\theta; x)]^2 g(\theta; \mu x) d\theta.$$

This is our integral representation for  $\mathcal{S}_2$ . Substituting for  $g$  from (22), we obtain

$$\mathcal{S}_2(x; \mu) = \frac{2}{\pi} \int_0^{\pi/2} \left[ \frac{J_1(2x \sin \theta)}{x \sin \theta} \right]^2 \frac{J_1(2\mu x \sin \theta)}{\mu x \sin \theta} d\theta.$$

To estimate this integral for large values of  $x$ , we proceed as at the end of section 3.1. Thus, we have

$$\mathcal{S}_2(x; \mu) \simeq \frac{2}{\pi} \int_0^{x^{-1/2}} \left[ \frac{J_1(2x\theta)}{x\theta} \right]^2 \frac{J_1(2\mu x\theta)}{\mu x\theta} d\theta \simeq \frac{8}{x\mu\pi} I(\mu), \tag{30}$$

say, where

$$I(\mu) = \int_0^{\infty} t^{-3} J_1^2(t) J_1(\mu t) dt. \tag{31}$$

This integral can be evaluated. We make the following steps. First, we use a Mellin–Barnes integral to represent  $J_1(\mu t)$ . Then, we integrate with respect to  $t$ , using a critical case of the Weber–Schafheitlin integral. The remaining integral is evaluated by residue calculus. The result is proportional to a generalized hypergeometric function,  ${}_3F_2$ . This function has argument 1 when  $\mu = 2$ ; in this special case, the  ${}_3F_2$  can be evaluated in terms of gamma functions. Some details of this calculation follow.

We start with the Mellin–Barnes integral [1, 9.1.26],

$$J_1(\mu t) = \frac{1}{2\pi i} \int_{c-i\infty}^{c+i\infty} \frac{\Gamma(-s)(\mu t/2)^{2s+1}}{\Gamma(s+2)} ds, \quad c = \text{Re } s < 0. \tag{32}$$

We substitute in (31), interchange the order of integration and then integrate with respect to  $t$  using (29); the result is

$$I(\mu) = \frac{1}{2\pi i} \int_{c-i\infty}^{c+i\infty} \frac{\Gamma(-s)\Gamma(s+\frac{1}{2})\Gamma(1-s)(\mu/2)^{2s+1}}{\sqrt{\pi}\Gamma(s+2)(3-2s)[\Gamma(\frac{3}{2}-s)]^2} ds, \quad -\frac{1}{2} < c < 0.$$

We move the integration contour to the left. There are simple poles at  $s + \frac{1}{2} = -N$ , where  $\Gamma(s + \frac{1}{2}) \simeq (-1)^N / [N!(s + \frac{1}{2} + N)]$ ,  $N = 0, 1, 2, \dots$ . Evaluating the residues gives

$$I(\mu) = \sum_{N=0}^{\infty} \frac{\Gamma(N+\frac{1}{2})\Gamma(N+\frac{3}{2})(\mu/2)^{-2N}}{\sqrt{\pi}\Gamma(\frac{3}{2}-N)(2N+4)[\Gamma(N+2)]^2} \frac{(-1)^N}{N!}.$$

Use of the reflection formula,  $\Gamma(z)\Gamma(1-z) = \pi/\sin \pi z$ , with  $z = N - \frac{1}{2}$ , gives

$$\begin{aligned} I(\mu) &= -\frac{1}{2\pi^{3/2}} \sum_{N=0}^{\infty} \frac{\Gamma(N-\frac{1}{2})\Gamma(N+\frac{1}{2})\Gamma(N+\frac{3}{2})}{\Gamma(N+2)\Gamma(N+3)} \frac{(2/\mu)^{2N}}{N!} \\ &= -\frac{\Gamma(-\frac{1}{2})\Gamma(\frac{1}{2})\Gamma(\frac{3}{2})}{2\pi^{3/2}\Gamma(2)\Gamma(3)} {}_3F_2\left(-\frac{1}{2}, \frac{1}{2}, \frac{3}{2}; 2, 3; 4/\mu^2\right); \end{aligned}$$

the factor in front of the  ${}_3F_2$  reduces to  $\frac{1}{4}$ . Thus,

$$\mathcal{S}_2(x; \mu) \sim \frac{2}{x\mu\pi} {}_3F_2\left(-\frac{1}{2}, \frac{1}{2}, \frac{3}{2}; 2, 3; 4/\mu^2\right) \quad \text{as } x \rightarrow \infty. \tag{33}$$

When  $\mu = 2$ , the generalized hypergeometric function is ‘well poised’ and can be evaluated using Dixon’s theorem [3, 4.4(5)],

$${}_3F_2(a, b, c; 1+a-b, 1+a-c; 1) = \frac{\Gamma(1+a/2)\Gamma(1+a-b)\Gamma(1+a-c)\Gamma(1-b-c+a/2)}{\Gamma(1+a)\Gamma(1-b+a/2)\Gamma(1-c+a/2)\Gamma(1+a-b-c)},$$

with  $a = \frac{3}{2}$ ,  $b = \frac{1}{2}$  and  $c = -\frac{1}{2}$ ; the result is

$$I(2) = \frac{1}{4} \left[ \frac{\Gamma(7/4)}{\Gamma(5/2)} \right]^2 \frac{\Gamma(2)\Gamma(3)}{\Gamma(5/4)\Gamma(9/4)} = \frac{16}{5\pi^3} [\Gamma(3/4)]^4.$$

Thus,

$$\mathcal{S}_2(x; 2) \sim \frac{4}{5x} \left[ \frac{2}{\pi} \Gamma(3/4) \right]^4 \quad \text{as } x \rightarrow \infty. \quad (34)$$

This estimate (34) agrees well with direct numerical evaluation of the original double sum.

### Acknowledgments

I thank Agnès Maurel for performing the numerical checks on the asymptotic estimates. This work was done while I was visiting INRIA-Rocquencourt; I thank Patrick Joly and his colleagues for their hospitality and support.

### References

- [1] Abramowitz M and Stegun I A (ed) 1972 *Handbook of Mathematical Functions* (Washington, DC: National Bureau of Standards)
- [2] Eason G, Noble B and Sneddon I N 1955 On certain integrals of Lipschitz–Hankel type involving products of Bessel functions *Phil. Trans. R. Soc. A* **247** 529–51
- [3] Erdélyi A, Magnus W, Oberhettinger F and Tricomi F G (ed) 1953 *Higher Transcendental Functions* vol I (New York: McGraw-Hill)
- [4] Erdélyi A, Magnus W, Oberhettinger F and Tricomi F G (ed) 1953 *Higher Transcendental Functions* vol II (New York: McGraw-Hill)
- [5] Kilpatrick J E, Katsura S and Inoue Y 1967 Calculation of integrals of products of Bessel functions *Math. Comput.* **21** 407–12
- [6] Landau L J and Luswili N J 2001 Asymptotic expansion of a Bessel function integral using hypergeometric functions *J. Comput. Appl. Math.* **132** 387–97
- [7] Martin P A and Maurel A 2007 Multiple scattering by random configurations of circular cylinders: Weak scattering without closure assumptions submitted
- [8] Stoyanov B J 2005 Comments on ‘Asymptotic expansion of a Bessel function integral using hypergeometric functions’ *J. Comput. Appl. Math.* **176** 259–62
- [9] Stoyanov B J and Farrell R A 1987 On the asymptotic evaluation of  $\int_0^{\pi/2} J_0^2(\lambda \sin x) dx$  *Math. Comput.* **49** 275–9
- [10] Stoyanov B J, Farrell R A and Bird J F 1994 Asymptotic expansions of integrals of two Bessel functions via the generalized hypergeometric and Meijer functions *J. Comput. Appl. Math.* **50** 533–43
- [11] Strauss W A 1992 *Partial Differential Equations* (New York: Wiley)
- [12] Watson G N 1944 *Theory of Bessel Functions* 2nd edn (Cambridge: Cambridge University Press)
- [13] Wong R 1988 Asymptotic expansion of  $\int_0^{\pi/2} J_\nu^2(\lambda \cos \theta) d\theta$  *Math. Comput.* **50** 229–34